SERRL AR ERAILES
B ¥ £ E

FEAFRFPMLT

FHR&R: KT L ReplEp- 2R %
ZFELF pFLV

THRA D B
?;%: B R



HEREMEER-BE A

P

i

HHE R E I

o HEFEAF:8A
® [CifE T
& HWME Ty
® N[ 0
[FF—&97 HREWMRR]
=77
S8 IH RE Epae
& B Al E B AT
TAEH 5 71.4%
BREEE A (B ET) 1 14.3%
AR5 1 14.3%
& B A BT E(TAET)?
2T 5 71.4%
fEFRIHE 2 28.6%
B BT (R T EER)?
R 7 100.0%
BEFR > SIETE& D EBRITIE?
017 1 14.3%
113 5 71.4%
IR 1 14.3%
HETE2£%—FERN - TEERESA?
AEHAE H 1 14.3%
FEALLE  Kw—EH 1 14.3%
—(@AHLLE - Rm={EH 1 14.3%
N CRETEE) 3 42.9%
HHIEE 1 14.3%




(&0 BFEHFP]

=77
BEIH R B4tk
& B RIH LAEi i 42
BT 1 14.3%
BNV =K ibe = 5 71.4%
REEE 1 14.3%
& B FIfE AT SR R BRI —XE?
ANHATBURE 5 @HIE g2 e 1 14.3%
BRI TS 3 5 71.4%
RRIHE 1 14.3%
NSz ok MR e
—REEANE 4 57.1%
ol B R B EEE N B 1 14.3%
BeEEA  LERE 1 14.3%
RARIEE 1 14.3%
BRI ELIERBNNAREESE ?
s 1 14.3%
s 5 71.4%
IR 1 14.3%
BB TIETERBN AR EEE PR ?
eiiEH 1 14.3%
B IE 4 57.1%
E/ 2 28.6%




BEIH R Bt

I TR R %/ D/ NRR?

37-48 /\BE 5 71.4%

49-60 /|\H% 1 14.3%

RARIEE 1 14.3%
g H TEERA RS /DIT?

10,000 JEPA T 1 14.3%

45,001-50,000 1 14.3%

55,001-60,000 3 42.9%

65,001-70,000 1 14.3%

RARIEE 1 14.3%
IS EE D TAE?

HCOHE 3 42.9%

BB 8 2 28.6%

HE 1 14.3%

RARIEE 1 14.3%
B REREEE A BE BRI LAE ?

= 1 14.3%

KE 5 71.4%

RIS 1 14.3%

EaS




* HHAIENREIE T ENMERE

N=7
RE(E57ER)
HEH RAHE A T R HEFIEE
e A BEAEF] 1(14.3%) - 5(71.4%) - 1(14.3%)
IS - 1(14.3%) 5(71.4%) - 1(14.3%)
TAERIEEGEE - - 6(85.7%) - 1(14.3%)
TAEERSEE - 3(42.9%) 3(42.9%) - 1(14.3%)
i\ = AHER R R - - 6(85.7%) - 1(14.3%)
L T AE R 1(14.3%) 5(71.4%) - 1(14.3%)
T{EithEE - 2(28.6%) 4(57.1%) - 1(14.3%)
FiEEr 1(14.3%) 1(14.3%) 4(57.1%) - 1(14.3%)
TEEEM - 3(42.9%) 3(42.9%) - 1(14.3%)
BRI Rk - 6(85.7%) - - 1(14.3%)
FE S THE R - 6(85.7%) - - 1(14.3%)
B ER - - 5(71.4%) 1(14.3%) 1(14.3%)
TAERRELIER - 1(14.3%) 5(71.4%) - 1(14.3%)
A — \ ¥
[FE=E47r EEBEF]
=7
S IH K& =R
TAEERHERE?
R 7 100.0%
(s HREERBER]
=77
SETH RE Epae
TREEHmATR
e 5 71.4%
piss 2 28.6%




Pl RE =R
B BB AR SR RE B IR TE BRI E 40 2
RAKERE 1 14.3%
E=C 4 57.1%
FFHER 1 14.3%
R 1 14.3%
BERFEN BESZHEESHR?
HEE 2 28.6%
IRIHS 5 71.4%
o 5L MBEECHE NI EWERELR ?
N=7
RE(E57EER)

HHE BHEWE R/ D> BHrE FEEHWE MEIEE
BRI RE - - 1(14.3%) - 6(85.7%)
NHREETL 1(14.3%) 6(85.7%)
AL EERTT 1(14.3%) 6(85.7%)
SHAEBEHHE 1(14.3%) 6(85.7%)
xS ERE 1(14.3%) 6(85.7%)
BT ERET] 1(14.3%) 6(85.7%)
B PSR AL B PR AT 1(14.3%) 6(85.7%)
HIREHEE T 1(14.3%) 6(85.7%)
Bl EEEE 1(14.3%) 6(85.7%)
FIE T ARSI E SN 1(143%) 6(85.7%)
SRS =7
PREE T E Bl 1(14.3%) 6(85.7%)
BB R B R RS 1(14.3%) 6(85.7%)
JIIE e AR 1(14.3%) 6(85.7%)
HEH M E 1(14.3%) 6(85.7%)




[(FAET HERKERHERHME]

SEIH RE(E53IL)
IR EER » BREEEEEENEEER
& 1 14.3%
6 85.7%

ARFLLER » DGR E 2

g 2 28.6%
5 71.4%




L B A E AR E?

FREMEEH- B2 LG SR I

[E—&7 HRWRL]

=]
4
ks 40
0 LiEd (& |||Eell[|( CEE T LA, ¢ SR i '.|
RE "otk | ARESLE | EEE O
B T 5 71.4 714 714
BEEE A (EEREE) 1 143 14.3 85.7
AR 1% 1 14.3 14.3 100.0,
HEF 7 100.0 100.0
1.1 & B AT LB (T AE)?
'I'I_ B0
o
ks
RE "ot | ARE S | EEE S
By ERTlE 5 71.4 100.0 100.0,
BRE EEEE 2 28.6
HER 7 100.0




2. MEFERER—ERN  THIHFESA?

1004
a0
-I,I- G0
iy
ks
404
204
RE "ot | ARESLE | EEE O
B 0 1 14.3 16.7 16.7
15 5 714 83.3 100.0
HER 6 85.7 100.0
BERE  EEEE 1 14.3
HEF 7 100.0
BB REBIEL AREIE— 2B LIE?
504
” 304
i
ks
204
o f-| I I EH L I ¥ |-'.'ﬁ=ll-.|,':i'e'.?':.
RE Horte | ARE S | BfEE T
By ANEEEA 1 14.3 16.7 16.7
EEHDLE - RK—EH 1 14.3 16.7 33.3
—HHA L E » K= A 1 143 16.7 50.0
AEH (RAEFE) 3 429 50.0 100.0
QAR 6 85.7 100.0
ERE fEEE 1 14.3
4R 7 100.0




[F=87 BEFER]

L& B ey bR 1

100+
a0
-I,I- G0
iy
ks
40+
209
[v] T T
ErHFHREH EE A B iy =t e
RE Btk | ARE S | EEE ST
B BURHRE 1 14.3 16.7 16.7
= AT 5 714 83.3 100.0
HEF 6 85.7 100.0
BERE EEEE 1 14.3
HEF 7 100.0

2 S H AT BT R R B R —?

Ho50
vis
=N
40
20
i
RE "otk | AREsE | EEES
B AIATEOE  sRE L 1 14.3 16.7 16.7
IR
B R Rt TR 5 714 83.3 100.0
HEF 6 85.7 100.0
BERE EEEE 1 14.3
HEF 7 100.0

10




2

3 H AR EE TEHVRESEER] ?

11

607
a0
ar
Ltk
20
o T T T
15 A rREE A L B 7 Ly ==
I Btk | BREstt | EEE St
AR —REEAER 4 57.1 66.7 66.7
Fefn B8 M BhEEHFEAN B 1 14.3 16.7 83.3
BeEEA - LB 1 143 16.7 100.0
Ha 6 85.7 100.0
BmE R 1 14.3
! 7 100.0
4. BERERETIEEBHR/NAREESE ?
1007
807
T B0
i)
Ltk
40
207
0 y
Btk | BRE st | EEE Ot
R A& 1 14.3 16.7 16.7
= 5 714 83.3 100.0
HERn 6 85.7 100.0
BRE RS 1 14.3
! 7 100.0



5. ERTIETIERBN/NAHEER FEH—E ?

80+
60
5]
a 40
204
o 3 .ﬁlll,'!_-‘.;
RE "otk | BARESLE | EEE O
By AfEdE 1 14.3 20.0 20.0,
B ine 4 57.1 80.0 100.0
HER 5 71.4 100.0
ERE  fEEEE 2 28.6
R 7 100.0
6.fAS A TARAEIF B e %/ D/NIg?
100+
80
o507
4
# A
404
207
[} T
48-50 |05
BHorte | ARE S | BfEE T
B 37-48/NiF 714 83.3 83.3
49-607]\EE 14.3 16.7 100.0
HER 85.7 100.0
ERE  fEEEE 143
R 100.0

12



7P H TERWA RS DIT?

a0+

40

e

T T T T
10,0005 1L 45 001-50,000 55,001-60,000 £5,001-70,000

R Btk | BRESE | Bt
HRHEY 10,0007CELF 1 14.3 16.7 16.7
45,001-50,000 1 14.3 16.7 333
55,001-60,000 3 42.9 50.0 83.3
65,001-70,000 1 14.3 16.7 100.0
4aFn 6 85.7 100.0
ERE REEE 1 14.3
4R 7 100.0

8. IS B E D TAE?

50
40
i 307
ar
ki
207
107
o T T T
B TR A TS o
KE Hooth | ARE L | BEELT
BHEY HOHF 3 429 50.0 50.0
FEilEE NIl 2 28.6 33.3 83.3
HAth, 1 14.3 16.7 100.0
Ha 6 85.7 100.0
HRE ERHE 1 14.3
i 7 100.0

13



aE REE R I H AT LA ?

100
a0
B0
40
20
o _..I..._:
Hortt | ARESE | EEE ST
B & 143 16.7 16.7
g 71.4 83.3 100.0
“EF 85.7 100.0
ERE SEEE 143
HEA 100.0
10. HEHFIEGRETEITFNREE
10.1 g A BETEF]
100
80
'I'I_ 50
iy
[k
404
204
o Pt _-I_ i -l'l.-".-
Hortt | ARESE | EEE T
B RARmE 1 14.3 16.7 16.7
TR 5 714 83.3 100.0
“EF 6 85.7 100.0
ERE SEEE 1 14.3
HEA 7 100.0

14




10.2 BERHIE

100+
80
“ 60
iy
ks
40
201
¢ it Zl-‘-'\l'f"
RE Hooth | ARG | EEE ST
B RRE 1 14.3 16.7 16.7
TR 5 71.4 83.3 100.0
HEF 6 85.7 100.0
ERE SEEE 1 14.3
4EF 7 100.0
10.3 TERERBEE
100
80
.I’I_ &0
il
b
40
20
G I-fl.
REL "otk | ARE S | EEE ST
FEEE O =y 6 85.7 100.0 100.0
ERE SRS 1 14.3
HEF 7 100.0

15




10.4 T{FEE1E

S04
401
'I'I_ 30
iy
A
204
104
0 3 ull.-.l.
TEL "otk | ARE s | EEES
B RRE 3 429 50.0 50.0
V=N 3 429 50.0 100.0
HEF 6 85.7 100.0
BRE EAEE 1 14.3
4EF 7 100.0
10.5 ¥R AN FELHB SRR
100+
80
'I'I- B0
it
th
404
204
. 2 \'II.-.I.
REL "okt | ARE T | EEESLE
By mE 6 85.7 100.0 100.0
ERE SRS 1 14.3
QEFN 7 100.0

16



10.6 FEEEA TAERISRREEIERE

1004
80
'I'I_ B0
iy
th
404
204
’ R e
/4 "ot | AREsE | EEESE
B REE 1 14.3 16.7 16.7
V= 5 71.4 83.3 100.0
4EAT 6 85.7 100.0
BERE  EEEE 1 14.3
HEF 7 100.0
10.7 T{EhBh
B0
a0
i
s
20+
’ |-':.!‘.; i :.t;'-:-
K Btk | ARE S | BEE ST
R AR 2 28.6 333 333
V=Y 4 57.1 66.7 100.0
4EF 6 85.7 100.0
BERE  EEEE 1 14.3
HEF 7 100.0

17



10.8 FHEWE

B0
T a0
g
ks
20+
’ i e
Hooth | ARG | EEE ST
B RAmE 1 14.3 16.7 16.7
AR 1 14.3 16.7 333
TR 4 57.1 66.7 100.0
HEF 6 85.7 100.0
ERE SRR 1 14.3
QEFN 7 100.0
109 TfEE X%
a0
40
-I,I— 307
iis
ks
20
10
° f :|E'\I{'-'
Btk | ARESE | EEE ST
B RRE 3 42.9 50.0 50.0
TR 3 429 50.0 100.0
HEA 6 85.7 100.0
ERE SRS 1 14.3
QEF0 7 100.0

18




10.10 2 EHERRIEG

100+
a0
” B0
ar
s
40
E' ._\-II.-.I.
K BHorte | ARE S | BfEE T
FERVGOR =3 6 85.7 100.0 100.0
ERE EEEE 1 143
HEA 7 100.0
10.11 gESHER RIVIEE
804
"o
il
s
20
REY "otk | ARESE | EEESEE
B WE 6 85.7 100.0 100.0
BERE EEEE 1 14.3
HEF 7 100.0

19




10.12 #1t EHIHER

100
a0
-I,I- B0
ar
s
40
20+
’ RS
"okt | ARE s | EEESE
B WE 5 71.4 83.3 83.3
TRE 1 14.3 16.7 100.0
HEF 6 85.7 100.0
ERE SEEE 1 14.3
4EF 7 100.0
10.13 TR,
100
80
“ B0
Vil
ks
40+
204
’ i :.t;l-:-
"otk | AREsE | EEES
B RRE 1 14.3 16.7 16.7
V=N 5 71.4 83.3 100.0
HEF 6 85.7 100.0
ERE SEEE 1 14.3
4EF 7 100.0

20



[F=&77 EEFPI]

L IAGEEHIHES?
100.0%
50.0%7
. B00%
]
ot
I
40.0%
20.0%
0.0%: .--.'.:
KE Horkb
BRE SAEE 7 100.0
ey hvA EvAY s ~=
[ZEUEr SREEKBEE R ]
LR EWAERR?
80+
B0
=]
E.'E 40
20
v 1'; o .I[I-‘i;-":ﬂ_
RE Hortt | ARESE | BEFEA
PEE VGO 5 714 714 714
= (AEEE) 2 28.6 28.6 100.0,
4EF0 7 100.0 100.0

21



2. RS HERNBRIERAER IR TIFAIRATEZE M ?

i

60

20

T
IR HEE

K& "otk | BARESLE | EEE S
A RRKEH 1 14.3 16.7 16.7
E=C 4 57.1 66.7 83.3
JEHER 1 14.3 16.7 100.0
QAR 6 85.7 100.0
ERE #EEE 1 14.3
HEF 7 100.0
3.BEB—FRN - METTH TR ? 555 X RSB pE B A e
80
T G0
il
ks
40
REY "otk | BARE S EN =R en
BHRY HHEE 2 28.6 100.0 100.0
BRE 8EEE 5 71.4
LA 7 100.0

22




3. IR L - MBS ECAE MR ?

3.1 BRI AL

100+

80

60

o

40

201

K& "otk | ARESLE | EEE S
By B 1 14.3 100.0 100.0
BRE EEEE 6 85.7
HER 7 100.0

3.2 AWREEIL

“ B0
i
b

K& Bttt | ARESE | EEE S
By BUrE 1 14.3 100.0 100.0
ERE #EEZ 6 85.7
HEF 7 100.0

23




3.3 AL EHIRTT

100+

a0

60

FPm

407

207

K& "otk | ARESLE | EEE O
By BUrE 1 14.3 100.0 100.0
BERE EEEE 6 85.7
TS| 7 100.0
3.4 FEEEEHEEES
T 60
iy
th
RE "ot | ARE S | EEE S
By BUkE 1 14.3 100.0 100.0
ERE EEEE 6 85.7
TS| 7 100.0

24




35 B SIERES

100+

a0

60

FPm

407

207

RE Hortt | ARESE | EEE ST
By BUkE 1 14.3 100.0 100.0
BERE EEEE 6 85.7
TS| 7 100.0

36 EBREREN

e 60
4
= A

K& Bttt | ARESE | EEE S
By BUrE 1 14.3 100.0 100.0
ERE #EEZ 6 85.7
HEF 7 100.0

25



3.7 BB R ERE D

100+

a0

60

FPm

407

207

RE Hortt | ARESE | EEE ST
By BUkE 1 14.3 100.0 100.0
BERE EEEE 6 85.7
TS| 7 100.0

38 HREFEN

T 60
il
ks

K& Bttt | ARESE | EEE S
By BUrE 1 14.3 100.0 100.0
ERE #EEZ 6 85.7
HEF 7 100.0

26




3.9 RlHTBHSEES]

100+

80

50

iy
L

REL Hovtb | ARE S | BRI
R AU 1 143 100.0 100.0
HRE EEEE 6 85.7
il 7 100.0

3.10 48 TAFFISEE R R RS

100

809

60+

;;
G

407

0] T

KE Hott | ARE o | BEEST

AR AUE 1 14.3 100.0 100.0
ERE RS 6 85.7
HEA 7 100.0

27



3.11 PRéETm e RY

100+

20

ARESIEE

ZRE T

AR AUE
HRE SHEE
A

100.0

3.12 R E R SR

100+

a0

G0

P

40

20

ARE e | BFEE T

AR

HAH A
BRI SR

100.0 100.0




3.13 It

1004

804
“ B0
s
ts

40

201

RE Hortt | ARESE | EEE ST
By BUkE 1 14.3 100.0 100.0
BERE EEEE 6 85.7
TS| 7 100.0
3.14 it AIMEEZRES

100
T 60
a4
ts

40

o I._'._.I

RE Hortt | ARESE | EEE T

AR B 1 14.3 100.0 100.0
ERE SEEE 6 85.7
HEA 7 100.0

29




LINRATEDR - R B G EEAREN EETIR

[(BAET HERKEREERIEHE]

100+

50

G0

e

404

20

BHorte | ARE S | BfEE T
B g 14.3 14.3 14.3
85.7 85.7 100.0
HER 100.0 100.0
2ANRAPAEK » ERGREE 2R
=]
iy
u.‘ 40+
"okt | ARE T | EEESLE
BRI g 28.6 28.6 28.6
714 7.4 100.0
QA 100.0 100.0

30




